Inverted Minor Suit Raises
Given what we now understand about total tricks, and the necessity to get to our optimum “level” as quickly as possible (to make it harder for the opponents to find their optimum level as well) it stands to reason that one of the conventions we will employ will be Inverted Minor Suit Raises. 

Weak Hands

We’ll start with the easier part. Suppose partner opens 1D, RHO passes, and we are looking at:




♠ K94

♥ 5
♦ J8653
♣ J852

Your partner’s 1D opening usually shows at least a 4 card diamond suit (unless he is 4-4 in the majors), so it’s reasonable to assume that our side has at least 9 diamonds. There is a more important consideration. We also know that the opponents have at least 8 hearts. (We’ll rule out the extremely rare possibility that partner has 6 diamonds and 5 hearts). If we give them any room, they’ll certainly find their heart fit. What’s more, we know that they should compete to 3H since there are 17 (or more) total trumps. Why should we make life easy for the opponents? Whether RHO passes, doubles, or bids a suit, we like to play that a jump to 3D shows a weak preemptive hand. We have other methods to show a forcing raise when they don’t bid, and we can cue bid when they do. Any time that you have a singleton in a major, and your partner opens 1 of a minor, a little bell should go off in your head. You should immediately know that the opponents will rate to get a good score if allowed to play in 2 of their major.  If you have a weak hand, you want to strain to get the bidding past two of their major, even if you have to lie a little bit about your hand. Let’s say partner opens 1C, RHO overcalls 1H, and we hold: 
A.
♠ 64

♥ 853

♦ 73

♣ J87532
or

B.
♠ T74

♥ 853

♦ 54

♣ KJ862
or

C.
♠ 8752
♥ 85

♦ K6

♣ QJ863
or

D.
♠ 875

♥ 5

♦ JT743
♣ QJ96
or

E.
♠ T74

♥ 5

♦ QJ84
♣ KJ862
(A): An easy preempt to 3C. This doesn’t promise any points. (B): Still an easy 3C bid. Yes, partner might have only 3 clubs, but he will often have 4. Besides, we don’t mind going to the 3 level with 8 trumps if there is a reasonable expectation that the opponents have a fit.  (C): 3C. Yes, we could make a negative double of 1H, but it’s more important to get bidding past the 2 heart level. Besides, if they compete to 3H, we wouldn’t be interested in competing to 3S even if we have a 4-4 fit, since that implies bidding three over three with perhaps as few as 16 trumps. (D): 3C. Yes, it’s risky, and we’d prefer to have another club, but the opponents are guaranteed to have an 8 card heart fit, so desperate measures are called for. (E): 3C. A bit heavy for a preemptive raise, but the pluses outweigh the minuses when it comes to moving the opponents off of their comfortable contract on the 2 level. 
What if RHO hadn’t overcalled? Does this change anything? It turns out… not really. They still have their fit, they just haven’t found it yet. Give them a convenient chance, and they’ll take advantage of it. It’s possible that it’s partner with the terrific hand, and we’re simply preempting him! For that reason, I recommend one subtle change if RHO passes and you have a weak raise of partner’s minor: With 0-5 hcp, make the weak jump raise. With 6-9 hcp, jump shift in the other minor (2D over 1C, 3C over 1D), to show a simple raise with enough strength to make a legitimate response. Therefore, in the examples above, if partner opens 1C and RHO passes, you bid 3C directly on hands A, B, & D – and 2D on hands C & E. 

When partner opens 1D, we can be even slightly more aggressive. Any time we have a weak hand, 4 diamonds and a singleton in one of the majors, we will strain to bid to 3D as quickly as possible. We won’t land in 7 card fits very often, and even when we do, the opponents may come to the rescue and bid.
Forcing Minor Suit Raises

Simple in concept, yet nearly always butchered by all but the most practiced partnerships. The problem with using a single raise as forcing over a 1 of a minor opening is that 9/10 players have no idea what to do next! Fortunately, the preemptive weak jump raises come up far more frequently, or most of them would be in a lot of trouble. I have a system over forcing minor suit raises that is fairly simple, yet very effective. The problem is knowing when to use it.  I have three rules about making a forcing minor suit raise that cover nearly all hands:
1. Do not make a forcing minor suit raise with a balanced hand of 11-15 points.
2. A balanced hand that starts with a forcing minor suit raise must be at least 16 points.

3. It is assumed that when partner makes a forcing minor suit raise, that his hand is unbalanced.

From these rules, we can deduce that with balanced invitational hands (even ones with 5 trumps), partner will respond with either 2NT (11-12) or 3NT (13-15).  We do this, because we don’t want to give the opponents any more information about our holdings than necessary when we get to a contract that the “field” rates to be in. While we could occasionally avoid a 3NT game that everyone else gets to and goes down, on the whole, it’s more dangerous to “direct” the opponents to the best defense which may limit our overtricks or even defeat us. The system is devised to get to the thin games that the field may miss, not stay out of a game that everyone else will be in. Hey, if you don’t help them, the opponents don’t always find the right lead, and the game might make.

Once we accept the conditions necessary for partner to make a forcing minor suit raise, we need a way to find 3NT when it’s right, and to sign off in 3 of the minor when it’s not. Obviously, strong hands – either balanced or distributional – have a way of taking care of themselves, so we concentrate on the one type of hand that needs attention: the unbalanced invitational hand. This will be the hand that partner will most often hold when making a forcing minor suit raise, and our rebids will be directed toward finding 3NT when it’s at all possible. First, you need to understand what a forcing minor suit hand might look like. Suppose partner opens 1D and you hold:  
♠ T75

♥ 5

♦ AQT743
♣ K74

Opposite as little as 

♠ AJ

♥ QJ98
♦ J965
♣ QJ6     3NT has terrific play.

An even simpler example: Partner opens 1C and you hold:

♠ K75

♥ 5

♦ J93

♣ KJT8754
With a bare minimum

♠ A62

♥ QJ3
♦ Q43

♣ A932   3NT is ice cold.

In the first example, you might get to an excellent 3NT contract on 21 points. (The contract may hinge on a diamond finesse). In the 2nd example, you can get to an iron clad 3NT again on 21 points. These are extreme examples, (most hands will have 22-24 hcp), but they have something in common: a source of tricks. When you have a long suit, with invitational (or near-invitational) values and expectation of a fit with partner, the only thing you really need to make 3NT is the safety of knowing that the opponents won’t be able to collect 5 tricks before you can take 9. Therefore, the assumption we make after partner bids a forcing minor suit raise is that he has a source of tricks and is looking for stoppers in the other three suits. I employ the following set of rules to find out:

1. After a forcing minor suit raise, a jump to 3NT by opener shows 18-19 balanced points. 

2. After a forcing minor suit raise, opener is expected bid the first stopper in his cheapest suit.

3. After a forcing minor suit raise, a 2NT rebid by opener is forcing, showing stoppers in both majors.

4. The first partner who can see that all 3 side suits are stopped jumps to 3NT.

5. After a forcing minor suit raise, and a rebid by opener, 2NT by responder shows extra values – forcing. 

6. When opener denies a stopper in a suit (by bypassing it), a subsequent cue-bid in that suit by responder specifically requests a partial stopper: Qx or Jxx. 

7. When opener has denied full stoppers in two suits (by bypassing them) a subsequent cue-bid in one of those two suits promises a full stopper in the bid suit, requesting a partial stop in the other.

This may seem complicated at first, but can be committed to memory quite easily. Basically, if you remember to bid stoppers up the line, with 2NT showing full stoppers in both majors, you will be ahead of the game. When opener denies holding a stopper in a suit in which responder also holds no stopper, responder usually retreats to the safety of 3 of the minor. The mistake that I believe a lot of pairs make is thinking that they can make an inverted minor raise and still possibly play the hand in 2NT. If you adhere to the conditions I put forth here, you can easily see that you won’t want to play 2NT. You’ll either get to an excellent scoring 3NT, or a safe contract in your suit. 
